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20114 10A 28 #HE

FEF4TIVR RTvT 1 BfRE BH(A) &, MBIERE O &5 &R

JEfz | NO fREF P Rig 4%AH Rl | RER |&F(A)|&F(B) &5 (C)| & (D) | B |HIMAI| EEH |BMEIZ K& |BMBIS &S | #B55| XD (o #5T KL [#BE
1 6 |EBIHZE FLYIR [Dr—3odz/i—F 2008.5.5 *R 92 24 9 10 12 5 |54 |5 |5 |45 |5 |43 ]|5]5

2 4 |FliEF EE MAE YR 2002.10.23 AR 86 20 7 10 14 5 |4 |5 |4 |23 |4 ]|5|4|5|5]|5]5
3 3 [IMIFEF FyvE— [E=J )L 2002.8.22 *R 85 19 10 10 1 5 (3|5 |4 |5 |3 |5 4|15 ]|5]5]|5
4 8 |FHNFF EAY FI9 2008.3.12 *R 71 17 7 8 10 3 (3 |4 |3 |3 |43 |43 |[4]|3]|5]4
5 7 |HEES EE wW.a—¥— 2005.10.15 AR 69 16 8 9 8 4 |4 |4 3|4 |3 |4 |2]1]3]|5]|4]24
6 5 |REAEF vz rMT—FIL 2009.6.13 *x 66 16 5 8 1 5 14 (3|3 |2 |4 |3 |2]|2|4]|4]|4]3
7 2 |EELF Ry— MIX 1995.9.19 AR 65 11 8 9 10 5 2 |4 |2 |4 |2 |3 ]|2]|2]|3]|4|5]4
8 1 |EAEF D7 FISF—L 2001.7.1 AR 57 15 6 6 6 1|2 |3 |4 |3 |4 |3 |2|2]3|2]4]34
9 9 |FHFEFE Uhs RoY— 2010.4.19 AR 28 7 4 4 1 o1 |1t |2]3|2]2|o]o |1 ]|1]|3]2
10 | 10 |/\KEE 2HF R—F—31— 2008.10.10 AR 25 6 5 4 0 oo |1 |24 |1 ]2 |1]o0ofof2]2]1
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20114 10R 2H

FETFATIVR RTvT 2 BRE Bt (A) &, MIBIERE O &G R
JEfz | NO fREF P Rig £%AH 3| BER |&F(A)|&F(B)|[&F(C)|&&H (D) | B || EEh |12 K& |BIMAIS 5&E S | #B55| XD (o 5T kL (S
1 4 |REDEZ 2337 |MAYIR 2003.4.12 *R 92 23 9 10 13 5|15 |4 |5 |5 |4 |5 |4|a4|a4|5]|5]5
2 1 |WiR—58 Dal) |Pry—voiz/A—F 2009.5.27 AR 80 23 8 7 9 4 5 (4|5 |4 |5 |5 [3|]2]3]|4]|3]|5
3 3 |EEALF Fy—  [MIX 1995.9.19 AR 74 18 9 10 7 4 |4 |5 |4 |4 |3 |[4]|3|2]|1]|5]|5]4
4 2 |[BLHF DZAN i e 1 2001.7.1 AR 57 13 6 9 6 2 (2 (3|4 |3 |22 ]|3|2]2]|4]|5]3
5 5 |BEAIRF AV T4 |MT—=FL 2009.11.15 *Z 52 1 7 7 6 3|2 |3 |2 |4 2|3 |2|1]2]|3]|4]3
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20114 10A 2H
FEFLIVR RTvT 3 BiER (A &, HRIRE OEE S
JEfz | NO fREF P Rig £FAH 3| BER |&F(A)|&F(B)|[&F(C)|&FH (D) | B M| EEH |BMAIZ K& |BMAIS 5E S | #55| XD (o #5 T kL [ #BE
1 2 |BKEF =3 VA = 2 2003.3.19 *R 91 22 10 8 14 5 |15 |5 |4 |5 |5 |4 |4|a|5|4]4]5
2 1 (EFEFHK THL Wa—F—Hh—TFTaHY 2004.4.11 AR 86 23 8 9 11 5 |14 |5 |5 |3 |5 |5 |43 |3 |4]5]5
3 3 |tHE— )| R DASESVZ AN 2005.1.23 *R 65 20 8 3 8 3 (4|3 |4 |5 |5 4|33 |2]1]2]3
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